B 7 B LLIRE 1 1 352 2R F 24l Rt

M o4 B OF
PEGR - R AT RN PRRE ENBIHER © 2025/6/28
ARG 8 HAEREL - 48
HEA 7H28H | 7TH29H | 7H30d [ 7H31H | 8H1H 8H2H 8H3H
gize [ B2w— [ 2y [ Bg= | 2mw | 2g9n | 2 | 20
HiE
A
0810 R Z.4%
B ~ SR
0900 EZ1UEE
0910 ERT Z.4%
FITEI| ~ SR
1000 EZ1UEE
1010 IR Z.4%
EZEI | ~ SR
1100 EZ1UEE
1110 IR Z.4%
EUUET | ~ SR
1200 EZ1UEE
TR
1305 IR Z.4%
BHET| ~ SR
1355 EZ1UEE
1405 IR Z.4%
FNET | ~ SR
1455 ==10/%E
1515 ENETZ.4%
FET | ~ SR
1605 EZ1UEE
1610 R Z.4%
FIE | ~ EiFSE
1700 EZ1UEE

*E = 1.206FDE B3R




B 7 B LLIRE 1 1 352 2R F 24l Rt

bt

4

PR %

PESR - ERE = AT RN PRRE ENEIHEA © 2025/6/28
KIBERE - 40 HEENEL 0 48
H A 8H4H 8HS5H 8H6H 8H7H 8H8H 8H9H 8H10H
g [ mpd | Em— | mw— [ 2wi= | s | mmiws | Ems | AN
HiE
Tk
0810 | EFIZ& | EfpiZ4k | ENpiZ4f | ENRIZSK | ENRTZ4R
B ~ FhAREE FRARAE FhARER FRARAE FhARER
0900 | ==1.0=%E | =108 | E=1Y=E | E=1U=%E | E==1.0=%E
0910 | EImiZ& | EfpiZ4fk | ENpiZ4f | ENRIZSK | ENRTZ4R
EE | ~ FhAREE FRARAE FhARER FRARRE FhARER
1000 | =1 0=8 | ®=10=E | E=10=E | E-1.Y=E | E=1.YE8E
1010 | Eppiséh | ENpiZ&% | EHRIZSK | EOETZ4Rk | ENRIZ&K
FE=ET| ~ TR FRARAE FhARER FPARAE FhARER
1100 | =1 Y=E | E=10EE | E=10%=E | E=1.0%=8 | £=1.Y=E
1110 | Eppiséh | ENpiZ&k | EHRIZ&K | EOETZ4fk | ENRIZ&K
FEUUET [ ~ TR FRAREE FhARER FPARAE FhARER
1200 | =1 Y=E | E=10EE | E=10%=E | E=1.0%=8 | £=1.Y=E
IR
1305 Eppisgh | ENpiZ&k | EHRIZ&K | EOETZ4k | ENRIZ&K
FBHET| ~ TR FRARAE FhARER FPARAE FhARER
1355 | =1 U=8 | =108 | E=10%=E | £=1.0%=8 | =1 Y=E
1405 Eppisgh | ENpiZ&k | EHRIZSK | EOEiZ4fk | ENRIZ&K
EANET | ~ FRARAE FHARE FhARER FPARE FhARER
1455 | 2= 10=E | 2= 1= | 2= 1YEE | E=1UFE | E-120%FE
1515 Eppizéh | ENRTZ&K | EIRTZEK | ENRTZ4&R | ENRTZ4K
BEEI| ~ FRARAE FPARE FhARER FPARE FhARER
1605 | =1 U=8 | =108 | E=10=E | £51.0%=%8 | £21. =8
1610 | Eppiséh | ENRTZ&K | EIRTZ&K | ENRTZ&R | ENRTZ4K
BIET | ~ FRARAE FPARE FhARER FPARE FhARER
1700 | 2= 1Y=8 | =108 | 2=10=E | E51.0%=%8 | £21. =8

*E = 1.206FDE B3R




